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MNO. 5

GH=7. 009
Fh=

ZBHEE (10~200kg)

EiEEH (10~200kg)

RETOY H2E
FRERE)

REITO Y H2E
(BEER 7R

D.H.W.L. D.L.+1.980m

D.H.W.L D.L.+1.980m

<  HHWL D.L.+3.600m

HW.L. D.L. +2.000m

<~ HHWL D.L.+3.600n

HW.L. D.L +2.000m

< LWL D.L.+0.000m
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KNO. 1+10. 00

GH=7. 006
Fh=

2%
% " " ® HEZE)
REEE 10~200kg 1
£ +30cm 2.
I £ 9A%F = 30cm 2.
KPR+ 30cm 0.
K =300
BE

BERYL

< HHWL D.L +3.600m

D.H.W.L D.L.+1.980m o HWL D.L.+2.000m

[ L #5)| 2 L8 5|
ML WL D.L.+0.500m

= LWL D.L+0.000m KPR B)
KepEBSY

# # i | E ()
10~200kg 4.8
P £ +£30cm 2.5
P b 4% + 30cm 2.1
ke 845 = 30cm 0.9
keh +30cm 0.4
23 -

< HHWL D.L +3.600m

D.H.W.L. D.L.+1.980m HW. L. D.L.+2.000m

[-E3 P P}LM%BI
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<~ HHWL D.L.+3.600m

D.H.W.L. D.L.+1.980m ~  HWL D.L.+2000m

2 L85 LB
ML WL D.L.+0.500m

E #

HE &R

10~200kg

B £ +30cm

B b #6% +30cm

JKepi# ¥ +30cm

ke +30cm

33

Keh W f By

< LWL D.L.+0.000m
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&
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B £ +30cm

B £ ##5 +30cm
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ke =30cm
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[ L #5)| LS
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KB A By
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R2Et BANfES AIRBE) X - 8
(R15E6) B E B TE GEF AERY)
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< HHWL D.L +3.600m
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D.H.W.L D.L.+1.980m
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&

# #

HEE

10~200kg
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2 £ +300m

[+ ##% +30cm

K idfF +30cm

ke 30cm

23

< HHWL D.L +3.600m

HW. L. D.L.+2.000m

—

D.HW.L. D.L +1.980m
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= LWL DL +0000m KPR By
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) #
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K idfF +30cm

ke 30cm

23

<~  HHWL D.L.+3.600m
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Kebaps)
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